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QUESTION 1

What is the proper command for importing users into theR76User Database? 

A. fwm dbimport 

B. fwm importusrs 

C. fwm import 

D. fwm importdb 

Correct Answer: A 

 

QUESTION 2

What port is used for communication to the UserCenter with SmartUpdate? 

A. HTTP 

B. HTTPS 

C. TCP 8080 

D. CPMI 

Correct Answer: B 

 

QUESTION 3

In anR76Cluster, some features such as VPN only function properly when: 

A. All cluster members have the same policy 

B. All cluster members have the same Hot Fix Accumulator pack installed 

C. All cluster members\\' clocks are synchronized 

D. All cluster members have the same number of interfaces configured 

Correct Answer: C 

 

QUESTION 4

For Management High Availability synchronization, what does the Advance status mean? 

A. The peer SMS has not been synchronized properly. 

B. The peer SMS is properly synchronized. 
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C. The active SMS and its peer have different installed policies and databases. 

D. The peer SMS is more up-to-date. 

Correct Answer: D 

 

QUESTION 5

What is the reason for the following error? 

A. A third-party cluster solution is implemented. 

B. Cluster membership is not enabled on the gateway. 

C. Objects.C does not contain a cluster object. 

D. Device Name contains non-ASCII characters. 

Correct Answer: B 
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